: | To solve problems invalving consfant

| acceleration in 2 dimensions, use the SUVAT
! equations with vector components where

L uis the inifial velocity

1 QS the acceleration

LV is the velocity af time 1 (f is a scalar)

v is the displocement at fime 1

|

i 2 To solve problems involving variable

1 acceleration in 2 dmensions, use calculus

L with vectors by considering each function of
' ime (the vector component) separately

3 When infegrating a vector for a variable
; accelerafion problem, the constant of

1 Infegration, ¢, wil also be a vector

|

\ U To find consfants of infegration, look for

! inifial conditions or boundary conditions.

|
: 9. Displacement, velocity & acceleration can

1 be given using /-/ nofafion, or as column
|
\ vectors
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The formula o find the position vector, r, of a
parficle starfing at position ¥, that is moving
with constant velocity v is

r=1y+vt

Constant acceleration vector equations:

v=u-+at

1 2
r=ut+§at

Calculus for variable acceleration:

Velocity, if' displacement is a function of fime:

o O
ot
j(v) dt = s
Acceleration, if velocity is a function of fime
_dv d%s
T T de
j(a) dt =v
. d%x . d%
* T ae T

To differentiate a vector quantitiy in the form f{t)l « gft)j, differentiate each function of fime separately

dr

fr =x14+yjJ,thenv = rri

F=xi4yjoda =

dv _ d?r

dt  dt2

/

=1'"=5c'i+j}j:
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